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Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.
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) 6+13=2 [1%)]
2) 17-5=9 [1%)]
3)  24+25=72 [1%]
4y  35-22=7 [1%)]
5) 14+26=72 [1%]
6) 4+7+6=2 [1%]
7)  18-5-4=7 [1%]
8) 11+13+15=2 [1%]
9) 44-11-20="2 [1%]
10) 23+30+15="2 [1%)]
11) 17+18-12=2 [1%)]
12) 38-6+26="2 [1%]
13) 24+28-12="9 [1%]
14) 37-14+33=9 [1%]
15) 86—64+44-22="29 [1%]
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16) How many 3-D object(s) below can roll?
L TA ZMEILIEAT LR EN?

'I-.-.-.-.-.-.-.-..

LI P IR R SR R IR R R NN N NN N TR TR N

[270]

17)  Find the missing number in the pattern.

RIFARE, HHBER ERIEF.

5,11, 17, 2,29, 35,

[2.1%]
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18) Peter counts forward from 42 to 86. How many odd [2.2%]
numbers will he count?

JNBAER 42 BAYRIESIZ 86, HEUH B /MEEE:

19)  Find the missing number. [2.3%]

AR RIS .

? +27=19+34

20)  Find the missing number. [2.4%]

AR ERIEF .

17-8=_7 —6
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21) How many circles are there in the figure below? [2.5%]
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22)  Which of the following objects is the longest? (Write [2.6%]
the number of the object)

UATHBEIHNRERR? ( AFEETZHMRE D

‘-I-I-I-I-I-I-I-l-I-I-I-l-l-..
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23) A cookies shop had 58 cookies. After selling out 34 cookies [2.7%]
in the morning, the baker made 27 more cookies. How
many cookies are there in the shop now?

FUERSE S8 IRMmEFH, EFEH 341818, (M
X7 27 R, FEEHERGHMEFHZ DIR?

24)  Arrange all the 2-digit numbers formed by the following [2.8%]
digits from the smallest to the largest. What is the
7t number?

HBFrA BTSRRI AL E R/ NERHES . 5 7 {8

BRI
3,7,6,0
25) How many hours have passed? [2.9%]
BT % INEF?
B A el /) 20 --..
/ Start time End time )

[ 1 By #45 oR B ]
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26)  Which number is on the left of “0” and below “9”? [3%]
ATH—EEE [0] WEF, REE (9] ITAH?
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27) Eric wants to buy two pencils and one ruler, how much does [3.1%]
he need to pay?

INAEE 2 THEM 1 EBR, REFSOT
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28) How many different ways are there to divide 15 apples [3.2%]
into two groups with no more than 12 apples in each
group?

15 EERTRME EMASEEE 128, 550
FEniR?

29) There are 22 animals lining up below. If is in the 1% [3.3%]

place, then isinthe ? place.

TER 22 €/ EHRK ﬂﬂ%%ﬁt%’l, AR A

EQuz 2 .
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30) If 4™ April is Wednesday, which day of the week will  [3.4%]
20" April be?

MR 484 BE2EH=, FE4 B 20 B2EH4k"?

31) Find the missing number in the pattern. [4%0]

RIFARE, R HBER ERIEF.

11,8, ,10,17,12,20, 14, ..

32) Mandy made a bead necklace with some beads of four [4.1%]
different colours. She put the beads in the order of 1 red,
2 yellow, 1 blue and 1 white. What is the colour of the
th
44" bead?

INEFAMFEEER RN FRZ/ESEM, Ml 1 AIAL. 2
ME. 1 NEM | NBRRFERFEER. BE 4
KEETFRITAEEER?

gSEEImmEmy,
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33) If each letter below represents a different digit, then [4.2%]
which 3-digit number does “ABC” represent?

ETHXP, ERNFERTZT—EFANHF. M
[ABC| R&RM—1E=1{rg1?

A B
x C
A
34) How many triangles are there in the figure below? [4.3%]

TEXEZME=AF?

P10
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35)

Choose any 6 different digits to form two 3-digit odd [4.4%]
numbers. What is the smallest difference between the two
numbers?

B 0ZEIEHNEARRNET  HMME=(IEL,
EfNERNEZD?

36)

There were 23 people on a bus. In each of the following [4.5%]
bus stop, 3 people got off the bus and 2 people got on the

bus. After stopping by 11 bus stops, how many people are

there on the bus?

B+ EFEE 23 A, 2&8HNEEBLTHtE 3 ATE
&2AL$oﬂ71H@Etﬁé B+ EEZDAN?

37)

P11

There are 12 people sitting around a round table. When [4.6%]
Bobby counts towards his left starting from himself,

Jenny is in the 6t place. When Bobby counts towards his

right starting from himself, what place 1s Jenny in?

B 12 ANEZE—RE=m&. /AHBCHIIRE, [
TEE 6 AR/NE. AEMR/NAHBECRHIIRE [@
AHELAEGREIME?
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38) 2 apples and 4 oranges cost 31 dollars. 5 apples and [4.7%]
3 oranges cost 39 dollars. How much do 1 apple and 1
orange cost?

2 [EERF 4 ERLE 31 T SEERM 3 ERLE
395, M 1{EFERM | ERLES DT

39) The 3-layer pyramid below is formed of 14 cubes. How [4.8%]
many cubes are needed to form an 8-layer pyramid?

TER 3 BEEFERH 14 RFEARLAMK, BER—E
8 EBEHNEFEFTERAZ DA

P12
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40) Find the missing number in the question mark box. [4.9%]

RIFARE, % B5R AR NHIEF
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